LCM & HCF
(d1.9. Td H. H.)

6
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YEAR : 1999

The HCF of two numbers is 15
and their LCM 1s 300. If one of
the number is 60, the other 1s:

T HEAH H Ho Ho T T T FH: 15
=1 300 71 =% wE T 60 Tl g He
Bk

(a) 50 (b) 75

(c) 65 (d) 100

The product of two numbers is
1280 and their HCF is 8. The
LCM of the number will be:

<) HEAE 1 AR 1280 ¥ a9 HH.
8 ¥ d1 39 Wemed # @ | F gm?

(a) 160 (b) 150

(c) 120 (d) 140

The HCF and LCM of two num-
bers are 8 and 48 respectively.
If one of the number is 24, then
the other number is:

2 G T He e F T Ho HHI: 8 7T

48, af% wk e 24 ¥, A gl wen

a7

(a) 48 (b) 36 (c) 24 (d) 16

The HCF and LCM of two naum-
bers are 12 and 336 réspec-
tively. If one of the number is
84, the other is : :

& HEAE F Ho Ho T Fo Fo HHI: 12
qe 336 7, 3% U weAr 84 ¢, W 7ol
e | Y

(a) 36 (b)48 (c) 72 (d) 96

The least number which when
divided by 4, 6, 8, 12 and 16
leaves a remainder of 2 in each
case is :

9% AT HEew #1 ¢ 59 4, 6, 8, 12
qq 169 WM ¥ Wy frafa § 2
I =l 87

(a) 46 (b) 48 (c) 50 (d) 56

The least number, which when
divided by 12, 15, 20 and 54
leaves a remainder of 4 in each
case is :

98 = "en ¥ T, e 12, 15, 20
T 54 | ar1 A W ueE fefa § 4 9w
T &7

(a) 456 (b) 454

[c) 540 (d) 544

The maximum number’ of
students among whom 1001
pens and 910 pencils’can be
distributed in such a way that
each student /gets  same
number of pens and same num-
ber of pencils{ is;:

BE $1 Afhaw H& 76w oE
#1001 &@H a1 910 HHal Fl 39
e H e q aeR e u uieer
Ty 2 2

(a) 91 (b)910

(c) 1001 (d) 1911

4 bells ring at intervals of 30

; 1
minutes, 1 hour, 15 hour and

1 hour 45 minutes respectively.
All the bells ring simultaneously
at 12 noon. They will again ring

simultaneously at:

oo £ I
4 =i #H91: 30 f5A2, 1 59, 17 %

AT 1 %21 45 02 & SiIel R a9 ¢
|t Al U =Y 12 79 29 H TS 2,
A9 A T WY e el 7

(a) 12 mid night

(b) 3 a.m.

(c) 6 a.m.

(d) 9 a.m.

16k

11.

1Z;

13.
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The product of the LCM and
HCF of two numbers 1s 24. The
difference;of the two numbers
is 2. Find the numbers ?

2 GENSS AA. a9 WA, F A
248139 gl & &4 # da 2 €,

e A
(a) 8 and 6 (b) 8 and 10
(c) 2 and 4 (d) 6 and 4

The LCM of two numbers is 4935
and their HCF 1s 5. If the sum of
the numbers is 100, then their
difference is :

= e wE. 495 a9 HE. 58 AR
39 st 1 An 100 2, a9 39 3T
E2

(@) 10 (b) 46 (c) 70 (d) 90

Two numbers, both greater than
29, have HCF 29 and LCM 4147.
The sum of the numbers is :
29 | 9] g EAe &1 0.H 29 a9
AH. 4147 7, @ 34 gemns w1 4m

A F

(a) 966 (b) 696

(c) 669 (d) 666
YEAR : 2000

The H.C.F. of two numbers is
8. Which one of the following
can never be their LC.M ?

3 e w1 WW. 8 ¥, A T 9 ®H
TF IAHE LA, TE 7 GEAT 22

(a) 24 (b) 48 (c) 56 (d) 60

The LCM and the HCF of the
numbers 28 and 42 are in the
ratio :

T HEeY 28 71 42 & AH. 91 4.4
T S F FWY

() 6:1 b)2:3

(€)3:2 (d)7:2
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14.

15

16.

17

18.

19.
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YEAR: 2001

The LCM of two numbers is
1820 and their HCF 1s 26. If
one number 18 130 then the
other number 1is:

3 HEAE T EH. 1820 91 0. 26
213 wF gem 130 §, 9 390 Hemn
A H

(a) 70 (b) 1690

(c) 364 (d) 1264

The greatest number, which
when subtracted from 5834,

gives a number exactly divisible
by each of 20, 28, 32 and 35, 1s

a8 fushan 9 7 @ 958349 9
TR W W\ 9= 20 , 28 |, 32 e
35 e 9 gofa: fawfsm 22

(a) 1120 (b) 4714

(c) 5200 (d) 5600

The HCF of two number 12906 and
14818 is 478. Their LCM is -

3 Head 12906 3 14818 = H.4.
478 &, 1 @4, I HLI

(a) 400086 (b) 200043

(c) 600129 (d) 800172

Find the greatest number of
five digits which when divided
by 3, 5, 8, 12 leaves 2 as re-
mainder

3,5,8, 129 9 37 W 2 319 &=l 2|
(a) 99999 (b) 99948

(c) 99962 (d) 99722

The least multiple of 13, which

20.

21.

22.

23.

on dividing by 4, 5, 6, 7 and 8/

leaves remainder 2 in each
case 18 y g

13 =1 98 =" 0% 1 & o4, 5,
6,7 T 8§ W 1 T I, feafd 1 2
I = 27 { 4/

(a) 2520 (B).842

(c) 2522 (d) 840

Find the largest number of four
digits such that on dividing by
15, 18, 21 and 24 the remain-
ders are 11, 14, 17 and 20 re-
spectively.

&9 15, 18, 21 991 249 9 3 W
Fue: 11, 14, 17 91 20 99 5=l B

(a) 6557 (b) 7556
(c) 5675 (d) 7664

252 |

24.

25.

Four bells ring at the intervals
of 5,6, 8 and 9 seconds. All the
bells ring simultaneously at
same time. They will again
ring simultaneously after :

9] Hfed 5, 6, 8 U1 9 WIS &
SaUe T Al &) wHf s R wwe
T QY I ¢ ol 3 P O WY A
BRI LR iR

(a) 6 minutes (b) 12 minutes
(c) 18 minutes (d) 24 minutes
The greatest number, which
when divides 989 and 1327 leave
remainders 5 and 7 respectively:
e sifeean we 7 § T 989 qen
1327 %1 M 3 W FHA: 594 7 99
w1 217
(a) 8
(c) 24

(b) 16
(d) 32

another. The maximum capac-
ity of container which can mea*
sure milk of either container
exact number :

T AT %mw_%f{ﬁ 750 g1
& a9 g B W 45 099 21 39S U
% 3 HI A HL AT T ?

(a) 1 litre . (b) 5 litres

(c) 15 litres (d) 25 litres
Two ntimbers are in the ratio

3,4, If their HCF is 4, then

~their LCM is
, S HEAd 3 4% sam | ¥ A s

AH 42, a1 ITH GG JE F
(a) 48 (b) 42 (c) 36 (d) 24
Find the least multiple of 23,
which when divided by 18, 21
and 24 leaves the remainder 7,

10 and 13 respectively.

23 1 =aH UF T L, FoEE 18,
21 @M 24 | AM g W FHH: 7, 10
T 13 ¥ "6

(a) 3013 (b) 3024
(c) 3002 (d) 3036
YEAR : 2002

The product of two number is
4107. If the HCF of the numbers
is 37, the greater mamber 1s :

q GEmE w1 PEEE 4107 &1 4
391 W4, 37 €, 91 9 em =@ € 2

26.

27

A milkman has 75 litres mulk '...'28'

in one cane and 45 litres in

29.

30.

31.
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(a) 185 (b) 111

(c) 107 (d) 101

LCM of two numbers 1s 2079
and their HCF is 27. If one of
the number is 189, the other
number is :

= WEE H W 2079 F q41 IAH
w4 27 ®1 9% @ dem 189 ¥,

T Hen 9w
(a) 297 (b) 584
(c) 189 (d) 216

The least perfect square, which
1s divisible by each of 21, 36 and
66 1s: |

o AaE o a1 ® S 21,36 21 66
TEF ° ot fanfaa 22

(@) 214344 (b) 214434

(c) 213444 (d) 231444

The least number, which when
divided by 4, 5 and 6 leaves
remainder 1, 2 and 3 respect-
ively is:

Ie A WA PN T, T4, 5 a6 9
I 3 G HA: 1, 2 AU 3 WY = 87
(a) 57 (b) 59

(c) 61 (d) 63

Let the least number of six dig-
its which when divided by 4, 6,
10, 15 leaves in each case

same remainder 2 be N. The
sum of digits in N i1s:

w9 feman s % 6 S F1 98 FAaH
wenN2, fag4 6,10 720 159 9
Wy fafd ¥ 2 99 swa &
e N & S ®1 4 Jd H)

(@) 3 (b) 5

(c) 4 (d) 6

Which is the least number
which when doubled will be
exactly divisible by 12, 18, 21
and 30 ?

e A HeA 1 ¢ A S W
a8 12, 18,21 72130 ¥ qufa: faisrm
1 St 87

(a) 2520 (b) 1260

(c) 630 (d) 196

The smallest square number
divisible by 10, 16 and 24 is:
=% =gEa i geA ¥ g 10,16
Ao 24 § gufa: faufea 27

(a) 900 (b) 1600

(c) 2500 (d) 3600
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32.

33.

34.

35.

36.
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From a point on a circular track
S kmlong A, B and C started run-
ning in the same direction at

2 2 1
the same time with speed of 2 3

km per hour, 3 km per hour and
2 km per hour respectively.
Then on the starting point all
three will meet again after

5 - T 1 30 919 TF TR T T
A, BTIC % & I 4 F @ fm

%, 1
n,wﬁwm:za kmph , 3

kmph @97 2 kmph fd =2 &1 7fa 9
e ARH FW &A1 ARTEF foig WA
A: fet R ar fuemn?

(a) 30 hours (b) 6 hours

(c) 10 hours (d) 15 hours
What is the least number of
square tiles required to pave

the floor of a room 15 m 17 ecm
long and 9 m 2 c¢cm broad ?

15 #0 17 90 Ho &= 721 9 H 2 Ho
o = w3 W feE % 7 w9 8w
o ol 2TEell &1 SR B

(a) 840 (b) 841

(c) 820 (d) 814

If the ratio of the two numbers
15 2 : 3 and their LCM is 54,
then the sum of the two num-
ber is:

af < s 1 S 2 1 3 € a 3R
0 HO 54 TA FEwed F A A T
(a)5 (b) 15

(c)45 (d) 270

The ratio of two numbers is 4.:.5 .

and their LCM is 120. The __nﬁm—
bers are Y
4w w1 A 4 : 5 AU STH
w0 |0 120 &3 Head [ wl |

(a) 30, 40 (B).40; 32

(c) 24, 30 (d) 36, 20

Three numbers which are co-
prime to one another are such
that the product of the first two

is 551 and that of the last two
1s 1073. The sum of the three

numbers is :

Hemd &1 uEelt & wema w1 quHEe
551 @91 SAfaH 2 HeMS H [UHEA
1073 &1 i Sene 1 2 I L7

37.

38.

39.

40.

41.

42.

(a) 75 (b) 81
(c) 85 (d) 89
HCF and LCM of two numbers
are 7 and 140 respectively. If
the numbers are between 20 and
45, the sum of the numbers 1s:
T HEAS FH W0 W0 9 F0 HO FHIA: 7
791 140 21 4f% Wead 20 945 F
¥ H A gensd 1 9 [h w2
(a) 70 (b) 77
(c) 63 (d) 56

YEAR :2003
The HCF of two numbers is 23
and the other two factors of
their LCM are 13 and 14. The
larger of the two numbers is :
q Hemsl & W W 23 T 99 I
W H w R uEe 13 qe 14 €
37 el § § 9¢ wea w7
(a) 276 (b) 299
[c) 345 (d) 322
If the students of a class, can
be grouped exactly into 6. or 8
or 10, then the minimum num-
ber of students in the class
must be. P AR
A% T Fa F B 6 TS AL0H
TRl § d 1R s § =
fm B 820 )
@) 60, ) (b)120
(c) 180 (d) 240

The least number which when

_diwnded by 4, 6, 8 and 9 leave zero

remainder in each case and

. when divided by 13 leaves a re-

mainder of 7 is:

e FaH e 71 HE e 4,6 ,8 e
9 | 9FT 3 W W e H 9= 99 ==
% SR 139 Wi & W7 99 F=a &7
(a) 144 (b) 72

(c) 36 (d) 85

The number nearest to 10000,
which is exactly divisible by
each of 3, 4, 5,6, 7 and 8, 1s :
10,000 # fiFean =9 T #1 £33
4,5,6, 77089 wia: fawfsa @7
(a) 9240 (b) 10080

(c) 9996 (d) 10000

Let N be the greatest number

that will divide 1305, 4665 and
6905 leaving the same remain-
der in each case. Then, sum of

the digits in N 1s:

43.

44.

45.

46.

47.
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A fam s f& N =8 afuwan den
2,f5H9 1305 , 4665 216905 & |0
¥ W e feafa W o 9 s g
N H & #{ehi 261 AN F1a L7

(a) 4 (b) 5

(c) 6 (d) 8

The sum of two numbers is 36 and
their HCF 1s 4. How many pairs
of such number are possible?

T HEAE AT 36 T T ST T o
4 %4 39 @ * wEmH & guifaa
el F HeA = e

(2) 1 (b) 2

(c) 3 (d) 4

The' greatest number, that di-
vides, 122 and 243 leaving re-
spectively 2 and 3 as remain-
ders is:

e s Hen | 1 faed 122
q9M 243 Fl WM 3 W FAW: 2 01 3
¥I9 = 87

(@) 12 (b) 24
(c) 30 (d) 120
YEAR: 2004

The HCF and LCM of two 2-digit
number are 16 and 480
respectively. The numbers are:
<1 ! T < GEE H W Yo T e o
FA: 16 741 480 Tt HeAnd | {7
(a) 40, 48 (b) 60, 72

(c) 64, 80 (d) 80, 96

The smallest number, which
when divided by 12 and 16
leaves remainder 5 and 9
respectively, is :

2 =[AAH Teen 0 € o 12 991 16
T HAT 3 T HH: 5T 9 U6 A=A E7

(a) 55 (b) 41
(c) 39 (d) 29
A number which when
divided by 10 leaves a

remainder of 9, when divided
by 9 leaves a remainder of 8,
and when divided by 8 leaves
a remainder of 7, is:

uF Hen & wa 10 9 W faa 9 g,
9 9y F=al §, S99 9 Wy g S
2,1 8 9 Tam & 3 8§ Wit faAn =
2, A1 7 9 F=a 7, A G= Jh w7

(a) 1539 (b) 539

(c) 359 (d) 1359

| 253
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48.

49,

50.

51.

52.
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What is the smallest number
which leaves remainder 3
when divided by any of the
numbers 5, 6 or 8 but leaves no
remainder when it is
divided by 9 ?

98 JeH He 71 € (995 68 R
ot W& G 9 3 T 3 9 T € el
9F I T W FE 99 A& e &7

(a) 123 (b) 603

(c) 723 (d) 243

What is the least number
which when divided by the
number 3, 5, 6, 8, 10 and 12

leaves in each case a remain-

der 2 but when divided by 22

leaves no remainder ?
o8 = ge F ¢ 799 3,5,6,8
L1099 12 9 971 &9 R s feufa o

2 ¥ == € SR 229 9 3 W FE
9 & "=

(a) 312 (b) 242

(c) 1562 (d) 1586

What is the greatest number
that will divide 307 and 330

leaving remainder 3 and 7 re-
spectively ?

92 SAferRan S 1 © e 307 T
330 =i fawfem & W FH: 3 AR 7
I = 27

(a) 19 (b) 16 (c) 17 (d) 23

The sum of the HCF and LCM
of two number is 680 and the

53.

54.

5.

56.

LCM is 84 times the HCF. If 7

one of the number is 56, the”

other 1is: :

q HEART & Ho o AUl T T AT G
680 &3 T Ho, He He L84 0T 2
= T T 56 € A Tl e A w2
(a) 84 (b) 12 (c),8 ()96

The LCM of twé mumibers is 20
times their HCF. The sum of
HCF and LCM is 2520. If one of

the number 480, the other
number 1s :

3 gEAE H @ Ho 3T W T H 20
T ®, IAF He Ho AUN W T 1 AN
2520 1 afk ©F HEw 480 T gEA
e T F?
(@) 400
(c) 520

(b) 480
(d) 600

254 |

w7 .

S58.

“la) 76
© (o) 184

YEAR : 2005

The largest 4-digit number ex-
actly divisible by each of 12, 15,
18 and 27 is:

4 37! ®1 q AT Hen 4 €, S
12,15, 18 7en27 ¥ yoia: fawfed &2
(a) 9690 (b) 9720

[c) 9930 (d) 9960

Which greatest number will di-
vide 3026 and 5053 leaving re-
mainders 11 and 13 respec-
tively?

a8 afieRan wew @ ¢ f 3026
e 5053 & fawfaa & W FwH:
11 @ 13 ¥y ==l @7

(a) 19 (b) 30 (c) 17 (d) 45
What is the greatest number
which will divide 110 and 128

leaving a remainder 2 in
each case?

78 afuead e 70 § e 110

A 128 w1 A 3 W gede fefa |

2 919 == ¥7 ‘or

(a) 8 (b) 18 (c) 28 (d):38
YEAR :2006

The least multiple of 7, which

leaves the/remainder 4, when

divided by arny of 6, 9, 15 and

18, 1= oy

7 - i o g i e, 9,

1599 18 | W1 31 W4 Y o= 87

(b) 94

(d) 364

The largest number of five dig-

its which, when divided by 16,

24, 30, or 36 leaves the same
remainder 10 in each case, is:
o 3T ) Afiray e ey
16,24 ,30 91 36 § 9N 3 W FoF

fearfa ® 10 9w =@ 21
(a) 99279 (b) 99370
(c) 99269 (d) 99350

The least number, which 1s a
perfect square and 1s divisible
by each of the numbers 16, 20
and 24 is

% AaH @ wEen ¥ #5016 , 20
AN 24 w O fawifem 27

{a) 1600 (b) 3600

(c) 6400 (d) 14400

99.

60.

61.

62.

63.
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The number nearest to 43582
divisible by each of 25, 50 and
75 1s:

43580 % fashedd 98 wem # g5
25, 50 a%r 75 yed 4 fawfaa 21

(a) 43500 (b) 43650
(c) 43600 (d) 43550

Three sets of English, Math-
ematics and Science books
containing 336, 240, 96 books
respectively have to be
stacked in such a way that all
the books are stored subject-
wise amd the height of each
stack is the same. Total num-
ber-of stacks will be:

s nfor qen fam 1 frad &
#e | wH: 336, 240 A1 96 Fhared &
= forami = 270 a7 § Wl § e 2
o o T2 & S e § A T
fopael faweram 2 & Tl v @, @ w2l
1 HE&A AA

(@) 14 (b) 21 (c) 22 (d) 48
Three numbers are in the ratio 2 :

3:4. I their LCM 1s 240, the
smaller of the three numbers is

T w2 3: 4% IuE | Y AR
T @ T 240 T, ° 9 S | B
Hen 1 7

(a) 40 (b) 60 (c) 30 (d) 80

The sum of two numbers 1s 45.

Their difference is é of their

sum. Their LCM is

= AT w1 AN 45 T TAFT A A
1s_- .

W 5 B I o Fe A B

(a) 200 (b) 250
(c) 100 (d) 150

The HCF of two numbers, each
having three digits, 1s 17 and
their LCM 1s 714. The sum of
the numbers will be :

1 3t Y <) Hemet W We 17 ¥ 3R
o To 714 11 WA 1 4 41 217
(a) 289 (b) 391
(c) 221 (d) 731
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64.

65.

66.

67.

68.
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YEAR : 2007

The HCF and product of two
numbers are 15 and 6300
respectively.
possible
numbers is
T HEAS! H W T F OTTE FA:
15 991 6300 &, 20 T & W &
T wafad SiE & Ted 87

(@4 (B3 ()2 (d)1

The smallest number, which
when divided by 5, 10, 12 and
15, leaves remainder 2 in each
case, but when divided by 7
leaves no remainder, is:

% =gaH Hew #=4 €, e 5,10 ,12
qq 159 9 3 Wy fofq § 2
99 F= A AfE 7" A 4 WOFE

The number of
pairs of the

v 7 w=a 27
(a) 189 (b) 182
() 175 (d) 91

What least number must be
subtracted from 1936 so that
the resulting number when di-
vided by 9, 10 and 15 will leave
in each case the same re-
mainder 7?

1936 4 § 98 -6 e S wert
S o o G #19,10 94 15 | 9

& W yees fefa o 7 9w aw?
(a)37 (b) 36
(c) 39 (d) 30

The least number, which when

69.

70.

1.

T2.

divided by 18, 27 and 36 sepa- / .

rately leaves remainders 5, 14,

23 respectively, is

98 =W wen # €, T 18,27
A 36 | A A W FA/S, 14 7ol
23 ¥y =@ 7 4

(a)95 ().113

(c) 49 d) 77

The smallest number, which

when increased by 5 is divis-
ible by each of 24, 32, 36 and
64, is

e =AH T w1 § o 5 wig W
o e 24, 32 , 36 T 64 W H
feraforr 2Kt 22
(a) 869

(c) 571

(b) 859
(d) 427

T3

4

Two numbers are in the ratio
3 : 4. If their LCM 1s 240, the
smaller of the two numbers is:
W HENE3 : 4 F W ¥ €, A 3T
0 W0 240 ¥, A 37H SR Hew Jia FY
(a) 100 (b) 80

(c) 60 (d) 50

The product of the LCM and the
HCF of two numbers 1s 24. If the
difference of the numbers 1s 2,
then the greater of the num-
ber 1s

I FemE & A "o aUl Ho He I
TR 24 B, AfF Hensi # Haw 2
, o 3 § 91 Hem Fn €7

@3 ()4 ()6 (d)8

The sum of two numbers is 216
and their HCF i1s 27. How many

pairs of such numbers are
there?

3 Hemsi w1 AM216§ 3N T e

W 27 ¥ 3 WE F wewsd F
@1 ()2 (93 (dy0

The LCM of two numbers is 44
times of their HCF. The sum of
the LCM and HCF'is 1125. If
one number/is, 25, then the
other number is:

T M F B Yo ITH W T F144
T % 8T® @ W T Ho T F AW
11252/ 3% wk W& 25 & @ g
e A w2

“(a) 1100 (b) 975
. [¢) 900 (d) 800
YEAR : 2008

The product of two numbers is
20736 and their HCF 1s 54. Find
their LCM.

% WA H AR 20736 9 ITH
T Te 54 T @ T @ FL

(a) 685 (b) 468

(c) 648 (d) 384

The greatest number of four dig-
its which when divided by 12,
16, and 24 leave remainders 2,
6 and 14 respectively 1s :

AR 3T 1 98 Afhan Fe # gl
fSi 12, 16 921 24 9 M 3 ®
FHY: 2 , 6 FA1 14 I =4l B2

(a) 9974 (b) 9970

(c) 9807 (d) 9998

75.

76.

7.

78.

79.

80.

81.
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When a number is divided by
15, 20 or 35, each time the re-
mainder 18 8. Then the small-
est number 1s

W9 UE WA H 15, 20 35 FH G
faan <1 2, 4t uiE a8 9 &= 2,
q 98 ZFaq e b 87

(a) 428 (b) 427

(c) 328 (d) 338

Two numbers are in the ratio
3 : 4. The product of their HCF
and LCM 1s 2028. The sum of
the numbers 1s

FHAM3: 4 F 390 § €, 9% W
To A Ao He F TUARA 2028 7, @
Hemal #UAT T 2

(a) 68 (b)72 (c) 86 (d) 91
Sum of two numbers is 384.
HCF of the numbers is 48. The
difference of the numbers is
< GEAEl F AN 384 U1 I He
To 48 &, T HEAAT F1 W T &7
() 100 (b) 192

(c) 288 (d) 336

The LCM of two multiples of 12
is 1036. If one of the number is

132, the other number is
12 T & T e 1056 7, A%
T HEA 132 7, a7 e 9 w2

(@) 12 (b) 72
(c) 96 (d) 132
YEAR : 2009

The smallest perfect square
divisible by each of 6, 12 and
18 is :

e = i 9 Hem M E, W66, 12

91 18 yeds 4 fagufam 1?7
(a) 196 (b) 144
(c) 108 (d) 36

The sum of two numbers 1s 84
and their HCF 1s 12. Total num-
ber of such pairs of number 1s
& HEE 1 984 & qUl ITH Ho Ho
12 %, 9 39 & & qemal & el #i
el HE&A 1 87

@2 (k)3 (94 (45

The sum of two numbers 1s 36
and their HCF and LCM are 3 and
105 respectively. The sum of the
reciprocals of two numbers:

T GEIE AN 36 %, IAH He T Ul
ol "o ®HHY: 3 AU 105 &, d 39
IRl 1 A F T2

@) = () 5= () 35 () =

| 255
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82.

83.

84.

85.

86.
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YEAR: 2010
The HCF and LCM of two

numbers are 12 and 924
respectively. Then the number of
such pairs 1s :

3 A H Ho Yo J To Ho HHI: 12
w024 ¥, @ T We H1 gEmeA &
oA Wepfam =g &fm?

@0 (b)1 ()2 (d)3

The LCM of two numbers is 4
times their HCF. The sum of
LCM and HCF 1s 125. If one of
the number 1s 100, then the
other number is

2 HEEH o o I Ho He 14 T
8, 7% O T F T T 1 AN 125 7, 7R’
T A 100 €, @ T HEA 7 B
(&) 5 (b) 25

(c) 100 (d) 125

The LCM of three different

numbers 1s 120. Which of the
following cannot be their HCF?

A S-S FEE % @0 |50 120 T,

Al TR § FH IAF H [0 TE B Wkl
(a) 8 (b) 12
(c) 24 (d) 35

The least number which when
divided by 16, 18, 20 and 25
leaves 4 as remainder in each
case but when divided by 7
leaves no remainder is:

58 =J9an geT # §, 5 16, 18, 20
M 259 9 3 R g feafa | 4
Y S @, olfehd 7 9 91 3 W FE
g &Y s &7

(a) 17004 (b) 18000

(c) 18002 (d) 18004

The traffic lights at thre"é_ dif-
ferent road crossings/change
after 24 seconds, 36-seconds
and 54 seconds respectively. If
they all change/simultaneously
at 10 : 15 : 00 AM, ‘then at what
time will they again change si-
multaneously?

1 arerT- 3 SREl F o TR Fhe:
24, 3679154 THUE F el T &l
%, 9% 9 |9 tH Wy 10 : 15 AM W
T B, d ST 9’ F TEei?
(@) 10: 16 : 54 AM

(b) 10: 18 : 36 AM

(c) 10: 17 : 02 AM

(d) 10:22: 12 AM

256 |

87. Find the HCF of

88.

89.

&

(&) 2 p.m.

~l o

and

) w
o o

35 6 :
T0g O = HeHe FA
S 1
@) - (b) &5

1 1
() &3 () 525

Four runners started running
simultaneously from a point on
a circular track. They took 200
seconds, 300 seconds, 360 sec-
onds and 450 seconds to com-
plete one round. After how
much time do they meet at the
starting point for the first time?

IR 4 [ gaR 9 W i S
ST AR F | TH TIR T B H
q FHAY: 200 FHUE, 300 WHUE, 360

91.

92.

93.

EvE AMA50 W8S oR &, A e T

F R SR g T d veel R fed?

(a) 1800 sec. (b) 3600 sec’
(c) 2400 sec.  (d) 4800 Seco.
Threebellsring simultaneously
at 11 a.m. They ring at.regular
intervals of 20 minutes, 30
minutes, 40minutes
respectively. The time when all
the three ring together next is:
A 11 am #1 UF W "=4ql 2,
3 120 e, 30 e aen, 40 e
% Ty Save v At €, @ 9 STl
AT Y FHA TS5 7

(b) 1 p.m.

(¢) 1.15 p.m. (d) 1.30 p.m.

A farmer has 945 cows and
2475 sheep. He farms them
into flocks, keeping cows and
sheep separate and having the
same number of animals in
each flock. If these flocks are
as large as possible, then the
maximum number of animals
in each flock and total number
of flocks required for the pur-
pose are respectively

wF FEOE % U 945 T A 2475
R aEsegeid e e ¢ fm
TIF g W e TY 7 AR M qr
92 eTT-3rer #l, A7 4 ge foa =g
B Heha1 & IoN S @, o U gHe |
fope Ty & qon gei w1 e fra 22
(a) 15 and 228 (b) 9 and 380

(c) 45 and 76 (d) 46 and 75

94

95:

96.
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The greatest 4-digit number
exactly divisible by 10, 15, 20 is
4 3=l = Afwan w& = 10, 15
A9 20 | ia: fawfe & 70 27

(a) 9990 (b) 9960
(c) 9980 (d) 9995
The greatest number that

divides 411, 684, 821 and leaves
3, 4 and 5 as remainders,
respectively, is

o8 HAfismay dem 7 ¢ fomw 411,
684, 821 HT 9T 3 W FH: 3, 4 A
5 91 Ear &7

(a) 254 (b) 146

(c) 136 £ (d) 204
The»t__"ai‘:._i_q_"'df two numbers is 3 :
4 and ;their HCF is 5. Their
LCM.s:

) wEAE H1 I 3 4 A T
Ho Wo 58, dl @ W M@ I

(@) 10 (b) 60 (c) 15 (d) 12

If A and B are the HCF and LCM
respectively of two algebric
expressions xand y, and A +B =
X+ y, then the value of A* + B? 1s
2 sfremforfed S x a9y & Ho o d
@ W FAW: A 71 B 2, a5 A+B =
Xty B, o A*+DB? 1 " T 7

(a) -y (b) x*

(c) ¥ (d) ¥+ ¥

The HCF and LCM of two
numbers are 44 and 264
respectively. If the first number
1s divided by 2, the quotient is
44. The other number is:

% HEET & Ho He 3 @ W HAN: 44
A 264 ¥ Af% el WeA w2/ AN
e smn 2, @ 9Tee 44 @, @ 3|
HEA T HL?

(a) 147 (b) 528

(c) 132 (d) 264

Three men step off together from
the same spot. Their steps mea-
sure 63 cm, 70 cm and 77 cm
respectively. The minimum dis-
tance each should cover so that
all can cover the distance in com-
plete steps is

o = T € g O uw W Te
AR FIA € 3% HH I @S FHH:
63 Fe Hio, 70 Fo FHie M 77 Fo o B
Yk %1 FH W FH SR g a9 FwE
e i T R F e
(a) 9630 cm  (b) 9360 cm

(c) 6930 cm (d) 6950 cm
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97.

98.

99.

100.

101.

102.

103,

info@spardha.guru

Find the greatest number
which will exactly divide 200
and 320.

% s Wem 9| &Sl 200 q«r
320 =1 quig: fawfem o= €7

(a) 10 (b) 20

(c) 16 (d) 40

84 Maths books, 90 Physics
books and 120 Chemistry books
have to be stacked topicwise.
How many books will be there
in each stack so that each
stack will have the same
height too?

84 7Ifurd, 90 wifdahT AT 120 WA &
foramal #1 favgar ol |9 2F ° @
Ty W% U fEad feae ghft fm
TF BF hl AR aUe B!

(@) 12 (b) 18 (c) 6 (d) 21

The greatest number that waill
divide 729 and 901 leaving remair-
ders 9 and 5 respectively is

o siferpas e o €, o 729 qer
901 1 9T & WL FHY: O N 5 9 =7
(a) 15 (b) 16 (c) 19 (d) 20
Three numbers are in the ratio
1:2: 3 and their HCF 1s 12.
The numbers are

7w 1: 2 : 3% U § ¥, S
T W 12 2, 1 Head | 7

(a) 12, 24, 36 (b) 5, 10, 15

(c) 4, 8, 12 (d) 10, 20, 30

If x : y be the ratio of two whole
numbers and z be their HCF,

then the LCM of those two num-
~106.

ber is : "
= A qof wemsil 1 e x: ¥ A
ITH B Woz ¥, T STHI T Do FT B2

o 2)
(@) yz b) 4 2

© 2 Ay iz

If the HCF and LCM of two consecu-
tive (positive) even numbers be
2 and 84 respectively, then the
sum of the numbers is:

< TTAR SIS OH HEAIH! F W Do
T o Ho FHHA:2 T 84 ¥, T T

1 I T HLZ
(a) 30 (b) 26 (c) 14 (d) 34
If P=233105 Q= 2537, then

HCF of P and Q 1s:

104.

105.

o)

afg P=23.3105 Q =25.3.7 2 AP
AL Q &1 He Ho FA F

(a) 2.3.5.7 (b) 3.2°

(c) 22.37 (d) 25.31.5.7

y 1 i
A fraction becomes F when 4 1s

subtracted from its numerator and
1 is added to its denominator. If 2
and 1 are respectively added to its
numerator and the denominator,
i 1

it becomes 3 Then, the LCM of

the numerator and denominator
of the fraction, must be

THE A H AN AT 4 T WA 1
Site ‘Hﬁl:lé- g W Bl A s
Y AN W H FHE: 2 AR 1 SIE S

T T —; B S &1 A % ate @ O

B H A9 F1 H

(a) 14 (b) 350 |
(c) 5 (d) 70 *
YEAR :2011
HCF of % , %and g s
2 4 "\'6. 3
E:gSﬁT gah'l'q.ﬂ, 0 B 7
48 2
@) 195 (®) 105
1 24
105 () 105

A milk vendor has 21 litres of
cow milk, 42 litres of toned milk
and 63 litres of double toned
milk. If he wants to pack them
in cans so that each can con-
taing same litres of milk and
does not want to mix any two
kinds of milk in a can, then the

least number of cans required is:
T 3o fashan & W 21 ot T 5 g,
42 I 39 WA 63 ©ff. TIA T 3
T afz o8 27 3 1 FA H 79 YR T
FLA TR € B 9EE A H S0a "
# 34 & SR < WER b o U A |
AT A1 F
(a) 3 (b) 6

(€9 (d)12

107.The LCM

108.

109.

110.

11T,

112.

Copyright © All Rights Reserved | https://spardha.guru/

of two positive
integers is twice the larger
number. The difference of the
smaller number and the GCD

of the two numbers is 4. The
smaller number 1is:

<) Y QI 1 G, T G
3T 7| BE A 941 B F SN 4
2, 9 Bie wem 9wl

(@) 12 b)6 ()8 (d) 10
The HCF (GCD) of a, b 1s 12, a,

b are positive integers and a >
b > 12. The smallest values of

(a, b) are respectively

a, b, F1 9& 12 8 9 a 3R b ¥FHH
ol Bla>b>12 &, 4 (a, b) 1 ZFaH
o &) BT 7

()12, 24 (b) 24, 12
(c) 24, 36 (d) 36, 24
YEAR: 2012

Product of two co-prime num-
bers is 117. Then their LCM is
< FEAA HENAA 1 PEEA 117 2,
d 3 FH. T4 HL

(@) 117 (b)9 (c) 13 (d) 39

YEAR: 2013

Five bells begin to toll together
and toll respectively at intervals
of 6, 7, 8, 9 and 12 seconds.

After how many seconds will
they toll together again ?

o= =z u W "= 7 i A w e
6,7,8,9 7N 12 HHUE F HaUA W
9 2, Al fFdd 9Pve & 9] 9
|1y a9 ?

(a) 72 sec. (b) 612 sec.

(c) 504 sec. (d) 318 sec.

The least number which when
divided by 6,9,12,15,18 leaves
the same remainder 2 in each
case 1s:

Ie =T 9 71 & 59 6,9, 12, 15
Y1 18 9 9 H W yw frafa § 2
¥ s9dr g7

(a) 180 (b) 176

(c) 182 (d) 178

The HCF of x* — 1 and x* + 2x3
—-2x! -1 1s:

X -1 5R x* +2X° — 2x—1 %1 4.4,
= B
(@) 3@+ 1
(c) x2- 1

(b) x— 1
(d) x+ 1

| 257
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113.

114

115.

116.

117.

118.

The greatest number by which
2300 and 3500 are divided leav-
ing the remainders of 32 and
56 respectively:

g sAfyEway T @ ¢ 5w 2300
Tl 3500 1 9T 29 T FHI: 32 T
56 99 == & 7
(a) 168
(c) 48

(b) 42
(d) 136

.Let x be the smallest number,

which when added to 2000
makes the resulting number
divisible by 12, 16, 18 and 21.
The sum of the digits of x is

o o R T erseEm den @ w"
2000 ¥ g1 =Y, 1 gRorH Fem 12,
16, 18 3K 21 9 fawre & Wl 21 x
% 3l %1 A T

(@) 6 (b)5 (c) 7 (d) S
Let x be the least number,
which when divided by 5, 6, 7
and 8 leaves a remainder 3 in
each case but when divided by
9 leaves remainder 0. the sum
of digits of x1s

W @ x| g, 59 5, 6, 7 @R
8 # fawfom + w wow feerfa # 3
S Teal & Wy 9w fawfsa ey s
W FHE ITFA T8 @Al x F A H
I o 2

(a) 24 (b) 21 (c) 22 (d) 18

The number of pairs of positive

integers whose sum 1s 99 and
HCF i1s 9 is:

41 99 & 3K HewH HAEE 9 &

@5 B2 (©3 @4 ,4
The ratio of two numbers is 3
4 and their LCM 15120 "The
sum of numbers isy’

T S F STNG 3 : 4T AR ST
o gamaed 12081 39 wemet
T AT &

(a) 70 (b) 35

(c) 140 (d) 105

The greatest four digit num-
ber which 1is exactly divisible by
each one of the numbers 12, 18,
21 and 28.

AR I A A F€ Ten W 12,
18,21 9 28 Y% HeAe § quiadn
faw Bl

258 |
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119.

120

121.

122.

124.

I QUi % U i 1 Her o Pl

(a) 9828 (b) 9882

(c) 9928 (d) 9288

The smallest five digit number
which is divisible by 12, 18 and
21 1s:

12, 18 3R 21 9 faum =)

(a) 10080 (b) 30256

(c) 10224 (d) 50321

.A number between 1000 and

2000 which when divided by 30,
36 and 80 gives a remainder 11
in each case is

1000 3% 2000 % =T FE TE &
% fo| 9 30, 36 @R 80 & faww
o =T At uries fearfa # viw 11 2m)

125.

126.

(a) 17 (b) 14
(c) 21 (d) 24
If the product of three

consecutive numbers 1s 210
then the sum of the smaller
numbers is:

47 T shfHeh HEAEl 1 qUrEHet 210
& 0 % O WS 1 A em?

(@) 3 (b) 4

(c) S (d) 11

Three bells ring at interval of
36 seconds, 40 seconds and 48
seconds . respectively. They
start ringing together at a par-
ticular time .They will ring to-
gether after every

SH EET FEY: 36 §wvE @R 40

(a) 11523 (b) 1451
(c) 1641 (d) 1712
The difference between the ©

greatest and least prime num- -

bers which are less than 100 is
TETH SR A H9E Head 9100
W HA &, F A= w S o
(a) 95 (b) 96 '

(c) 97 (d),94-

The number betwddh 4000 and
5000 that is divisible by each
of 12, 18, 21 and 32 is

4000 3 5000 % == W den =
12, 18217 32 @ faysg @,

foreafafan % ¥ # @n
(@) 4203 (b) 4023
~(éy 4032 (d) 4302

The ratio of HCF and LCM of two
numbers a and b is 1 : 30 and
the difference between the HCF
and LCM 1s 493. Find the possible
number of pairs of a and b.

% Hemsi a ¥R b# HCF %1 LCM
# 39 1 : 30 & iR HCF 3k LCM
F o9 o 493 1 a @R bF el #
darfga dem I\ )

(a) One /T (b) Two/=i

[c) Four/=  (d) Five/dr4

The LCM of four consecutive
numbers is 60. The sum of the
first two numbers is equal to
the fourth number. What is the
sum of four numbers?

=R FioF Tened =1 o ET TmmEeE 60
1 weett o wemst w5 Am 2l gen $
R 21 AR g A e 27

12.

128.
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HAFve AR 48 FwvE F SFAUd W
=t 21 & fedt fafire T W uE w@y
a5l E edl 21 A frad g s
97 TE WY et ?

(b) 12 min.

(d) 24 min.
Two pipes of length 1.5 m and
1.2 m are to be cut into equal
pieces without leaving any
extra length of pipes. The
greatest length of the pipe
pieces of same size which can
be cut from these two lengths
will be

1.5 HieX &R 1.2 HieT o & eyl Fi
TR HS ¥ 39 W FR1 9 g
< urEal # wE fEw v T = gEl
uEdl ¥ 9 §HA AN & B WA ael
T THe & AfuFan daE aaEn?

(2] 0.13 m/#t (b) 26 m/Hr
(c)0.3 m/#t  (d) 0.41 m #

A General of an Army wants to
create a formation of square
from 36562 army men. After
arrangement, he found some
army men remained unused.
fardl 9 & seREl 36562 Al § U
TFE = H A A F AR wD
Afr a9 ™ 39 g S w5 ogem
E2 I
(a) 36
(c) 81

(a) 6 min.

(c) 18 min.

(b) 65
(d) 97
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1249,

130.

The two numbers are 55 and
99, HCF 1s 11, what 1s their
LCM?

3 wemd 55 3 99 ¥, famw meww
TTEdF 11 21 39 AgHad GHEd

131.HCF and LCM of two numbers

are 19 and 969 respectively. If
one number is 57 find the other
number

<1 HEAISl kI HeT GHYEdS A o
FoEd® w19 3w 969 #1 ufx

133.What is the LCM (least com-

mon multiple) of 57 and 937
57 R 93 & @Hdd GHEdS 1
grm?

(a) 1767 (b) 1567
T &M T HeA 57 §, W gl wen W w (c) 1576 (d)1919
(a)486 (b) 479 {8310 (bj 456 134. If the least common multiple of
(c)476 (d) 495 (857 ) 828 two numbers, 1728 and K is

The two numbers are 88 and
33, HCF is 11, Find the LCM

q HeAad 88 iR 33 ¥ fod wewa
FudaF 11 #1 S oaH FHIEdS
EIGHCT

132.HCF and LCM of two numbers

are 11 and 825 respectively. If
one number is 275 find the
other number.

A Gl # WETH HTEdE R T
AT FA: 11 3R 825 FE: ®WE,
TF e 275 €, o T g WE -

5184, then how many values of
K are possible?

A, <1 HEASA 1728 T K F T
T 5184 g, @ K=& form W
Rk 25

(a) 264 (b) 235 (a) 53 (b)45 (4 {34~ (b) 8
(c)238 (d) 246 (c) 33 (d)43 . tel -6 (d) 7

= ey

‘{°ANSWER KEY }’
1. () 15. () 29. () 43. (o) 57. b) | /7L.20) 85. (d) 99. (b) 113.(h) 124.(b)
2. (a) 16. (a) 30. (c) 44. (d) 58. (b) | 72. @) 86. [b) 100.(a) 114.(c) 125. (d)
3. (4 17. (¢ 31. (d) 45. (d) 59. b} »273. (@ 87. fb) 101.(d) 115.(d) 126. (b)
4, (b 18. (¢ 32. () 46. (b) 60. fa). | 74. @) 88. (a) 102.(b) 116.(a) 127.(c)
5. (o) 19. (b) 33. (d) 47. (o) 61+ (a) 75. fa) 89. ) 103.(b) 117.(a) 128. (c)
6. (d) 20. (a) 34. (o) 48. (d) | .62:c) 76. (d) 90. o) 104.(d) 118.(a) 129.(d)
7. (a 21. (¢ 35. (c) 49. b) 1 63. (o 77. (o) 91. b) 105.(b) 119.(a) 130. (a)
8. (d) 22. (¢ 36. (c) 50. (a) » “64. (o) 78. (o) 92. [c) 106.(b) 120. (b 131.(d)
9. () 23. (a) 37. () 51. (d). ../ 65. () 79. (d) 93. b 107 .(c) 121.(a) 132.(c)
10. (a) 24. (a) 28. (d) 52. (dy’ 66. (c) 80. (h) 94. (d) 108.(d) 122.(c) 133.(a)
11. (b) 25. (b 39. (b) 53. (b) 67. (a) 81. (o 95. [e) 109.(a) 123.(c) 134.(d)
12. (d) 26. (a) 40. (b) | 54, (d) 68. (c) 82. (¢ 96. [c) 110.(c)
13. (a) 27. (o 41. (b) | . 55. (b) 69. (o) 83. (M) 97. (d) 111.(¢)
14. () 28. (a) 42. (&) | 3 56. (d) 70. (c) 84. (d) 98. () 112.(c)
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